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ncotherE0 dial affects NCE, as well as other modes

http://www.t2k.org/nd280/physics/xsec/docs/xsec-niwg-doc/niwg2016
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kNIWG2012a_ncotherE0 modes
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• http://www.t2k.org/nd280/physics/t2ksk/code/neutmodes

• 736	events	in	numu 1

• 122	ccqe events	(1)
• 352	nce events	(51,52)
• 5	other	events	(38,39,41–46)

mode	=	41	entry	=	41
mode	=	45	entry	=	204
mode	=	41	entry	=	251
mode	=	41	entry	=	350
mode	=	41	entry	=	604



weights
default

4

weights TArrayF
-1 -0.5 0 0.5 1 1.5 2 2.5 30

10

20

30

40

50

60

ccqe

Entries  501
Mean   0.9831
RMS    0.1519

ccqe

weights TArrayF
-1 -0.5 0 0.5 1 1.5 2 2.5 30

10

20

30

40

50

60

ccqe

Entries  501
Mean    0.999
RMS    0.1332

ccqe

entry	8
(mode=1)

entry	15
(mode=1)

weights TArrayF
-1 -0.5 0 0.5 1 1.5 2 2.5 30

5

10

15

20

25

30

other

Entries  501
Mean   0.9859
RMS     0.299

other

entry	41
(mode=41)

weights TArrayF
-1 -0.5 0 0.5 1 1.5 2 2.5 30

5

10

15

20

25

30

nce

Entries  501
Mean   0.9859
RMS     0.299

nce

entry	0
(mode=52)

• nce and	other	are	exactly	the	same
• ccqe events	are	different	from	(nce &	other)

and	from	each	other
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• nce and	other	are	set	to	1
• ccqe events	unchanged

genWeights_SK_2016.cxx
rw.Systematics().Include(t2krew::kNIWG2012a_ncotherE0);	
rw.Systematics().SetTwkDial(t2krew::kNIWG2012a_ncotherE0,0.);	
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• nce is	set	to	1,	other	is	default
• ccqe events	default

NIWGReWeight_v1r23p2/NIWGReWeight2012a.cc
remove	isNCEL



7help	from	Mark	Scott

NIWGReWeight_v1r23p2/NIWGReWeight2012a.cc
remove	isNCEL



Compare to previous iteration of analysis

• 07 January 2016 
• 3 files: flux, xsec, and niwg

• now, v1r27p3
• 2 files: flux and xsec

• ncother is in 07 Jan 2016 niwg, not xsec
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07Jan2016 v1r27p3

xsec
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16	branches
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niwg
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07 Jan 2016
niwg
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nce (mode=51–52)	weight	is	not	1?

ccqe (mode=1)	weight	is	1???

(all	nce events	are	the	same,	and	all	ccqe events	are	the	same)

this	is	weird
(even	if	there	were	other	dials,	
“turning	off”	means	Alex	should	
have	dealt	with	them)

this	is	weird
it’s	possible	the	ccqe weight	
comes	from	xsec file	instead	of	
niwg file?



07 Jan 2016
xsec
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as	expected,
• nce weight	is	1
• ccqe weight	is	not	1

• maybe	this	is	the	reweight	that	is	used	in	ncgamma (and	not	niwg,	where	ncotherE0 is…)
• look	at	ncgamma code!


